BRNOXBEHRRERKRE (FTR2458A8 KHEE)

BUEIXBARETHORFHE
1 RBEEHFEEWKR
% £ K RE FS HlE  m =1 B E o
REHH 23,925 & -1,251 # -5.0 % 98.1
% EF ¥ 102 A -9 A -8.1 % 0.42 A
BEEHN 28,521 A -1,608 A -5.3 9% 116.9 A
2 £H7—X MIEHL
DG @ 6|6 © @
Bl || F|E|X|" |88 |8|% £
5 z= Ed
Ml E|B|Z|E|R|=|N|B|E
& & #|141(129| 121|113 (110|109 108 (102|101 | 95 | 92 2,670
B OE | +2 | 3|15 +1 [ -17[-25[-33| -9 | +3 | +3 |-12 -199
MEEIERL| 2 4 8 6 5 3 1 7110 [ 11 9
3 KEERIFEE DI
® R B B ME M =@ E LB B | s
HEIEFREFH 19 18.6 % -1 -5.0 9% 34.2 9%
“EEFEHEH 33 32.4 % -4 -10.8 9% 17.4 %
HEREHFEHFP 6 5.9 % -10 -62.5 % 12.6 %
# 1T =8 44 43.1 % +6 +15.8 % 35.6 %
z O 0 0.0 9% +0 +0.0 % 0.2 9%
it 102 100.0 9% -9 -8.1 % 100.0 9%

F BERERMRUTE2MEERADOORMNGTHE—BLENVGENHY FET,

4 FERITEE DR

& sl & B W mE & LB m E] e
15FUT 1 1.0 % -3 -75.0 9% 13.9 9%
16~245m% 10 9.8 9% -1 -9.1 9% 9.1 9%
25~295% 8 1.8 9% -1 -11.1 % 6.0 %
30~39% 12 11.8 % -3 -20.0 9% 15.1 9%
40~4 9% 10 9.8 9% -3 -23.1 % 15.4 9%
50~595 12 11.8 % -2 -14.3 9% 11.6 %
6 0~6 4% 13 12.7 % -4 -23.5 % 1.6 9%
6 5 m U L 36 35.3 % +8 +28.6 9% 20.6 9%

Hi 102 100.0 9% -9 -8.1 % 100.0 9%

F BERERMRUTE2MEERAOORMNGTHE - BLEWNVGENHY FT .
E2 OXIF, ATERUE 101 £RY.




5 HEEHAEENR (RIFERLL)

Z [ B~ ] F | B] & 2| X

] & x|

=S ol |2 | 2| b | K| B | B | B

=] 1 1

. I I - x | 0w |
x F 23,925 974 | 1,245 499 | 2,234 | 1,157 6, 200 2,667 9, 865
REHRH HI4ELE -1, 251 +18 -214 -30 -226 —65 +49 -125 -4
R () 100 2.4 5.2 2.1 9.3 4.8 25.9 1.1 24.5
X F 102 1 0 0 1 1 36 10 28
%t E B AL -9 *0 -2 +0 -2 -1 +8 -1 +1
B (%) 100 1.0 0.0 0.0 1.0 1.0 35.3 9.8 21.5
X F 28, 521 648 | 1,306 493 | 2,447 | 1,034 3,357 4,456 [ 10,685
REEH HI4FELE -1, 608 +34 -219 -33 -218 -1 -26 -444 -560
R (h) 100 2.3 4.6 1.7 8.6 3.6 11.8 15.6 31.5

F BERERMRUTE2MEERADOORMNGTHE - BLEWNVGENHY FT .
F2 BE (16~241) LXEOBHEL, TNETNEELLESFE 1 LFE(BRXERPRIREVE) LESLBROBHTT,

6 HEEHINEREELR (RIFERLL)

S b4) N i ¥ = = = 25
5} E E )
% £ | - |z | 2|t || B | ®
= 1 64
o I - - B - IS A R
X & 19 0 0 0 0 0 2 7 10
HBERES
- 4 =0 | xo| | = -3 +6 2
X & 33 0 0 0 0 1 2 3 28
—gpEEED
S 4| x0| o =o| =0| + 2 5 R
5 6 0 0 0 0 0 5 0 i
SRR A
- 0| =0 A xo| | - R 2 -3
X & 14 1 0 0 1 0 27 0 16
$ 7 o
S 6| 20| 0| 0| =0]| =0 8| =0 2
5 0 0 0 0 0 0 0 0 0
z o
B +0 +0 +0 +0 +0 +0 +0 +0 +0
NNEE 102 1 0 0 1 1 36 10 55
R I o] =0 2| 0] 2] - +8 I T

1 EE (16~245)



7 FEER - IKERIFEER (RIEREL)

15 16 20 25 30 40 50 60 65 = ¥
X 4 % l l l l l l l % 07
A 19 24 29 39 49 59 64 1 R
T F | F| & | F| &% | &| & | £ | (%)
X = 0 1 6 2 3 1 2 2 2 19 | 18.6
BRERET BIELE| -2 | =0 +6 +1 -1 +1 -1 -2 -3 -1 —
—a X £ 0 3 0 6 8 4 5 5 2 33 | 32.4
SHEREY e T zo o 4] a1 2| 5 2| 3 2] 4] =
_ X = 0 0 0 0 0 0 1 0 5 6 5.9
RERRAT el o 1 o o =0 o | 2 2] 3] o[-0 =
4= X = 1 0 0 0 1 5 4 6 27 44 | 43.1
B 1T B =
BTl £0 | £0 | £0 | -3 | +1 +3 | -1 -2 | +8 | +6 —
z o f =3 0 0 0 0 0 0 0 0 0 0 0.0
BIEEE| 20| 20| =20 | =0 | £0 | =0 [ =0 | =0 | =0 | =0 —
A~ =t X = 1 4 6 8 12 10 12 13 36 | 102 100
i o lgiE] 3 2| | ] 3 3 2 4] «8| 9o —
BRE (%) 1.0[39(59|7.8]|11.8/9.8|11.8[12.7[35.3| 100| —
1 BREENEALTE 2 MEBEADHRAAHEE —BLENSENBYET,
8 BEEFEDREHFHDL— ML FNEERAOKR (BIEXLL)
X n X =3 :[] =3 1 i
BEERERDORSE 19 20 -1
O— MR FIEERRE 9 6 +3
E F A £ (%) 47. 4 30.0 +17. 4
4 7 # T 4 3 +1
9 V—MRIIIEERAREDEFHTE (RIEXLE)
X n £18 | EEER | BEER | SAER | MOER | BEED | HIER |2 ofth B
w | A F 1 2 0 0 5 0 0 1 9
*
el b BIELE] 1| 20| =20 [ =0 | +1 | =0 | =0 | +1 +3
e | A EF 0 1 0 0 3 0 0 0 4
ooz g
EREERH T w0 [ 20 [ 20 [ 20 | & [ =0 | =0 | =0 |
10 E7FEHEEANER (BTSN L)
X ) 218 | EBEP | BEER | SEER | MoER | BEED | BIER |2 otk 3 FEREE (%)
X = 0 1 0 0 1 0 0 0 2 50.0
AR BIEEL| £0 | =20 | £0 [ =0 | +1 | =0 | =0 | =0 [ +1 —
e el & & O] o] o o 2[ o o o 2] 500
Al g 20| 0 =0 0| 0| 0| =0 =0 [ =0 -
. X = 0 0 0 0 0 0 0 0 0 —
o 2
JRY AT BIAEE| =0 | =0 | +0 | +0 [ +0 | =0 | +0 | =0 | +0 —

F BRERMAUTE2MMEEEAOLORMAFHE—BLEVGENHYET,

3




i X T+ 5l 32 B R S A K __ CRA2E8ARME
% 3 EEED

X% % & —hE | HGE | B1E | 10~2% | Bz |
4 il 3 L] a8 il 3 : BT | B : BT | B : BT | 3 i BT | B i AT | %E : A0
F F 5 F F F F F F

X BT H £ 3% 54 =1 |54 & 54 = - - A - S A - - 4 - A
B R K 499 -154 4 +2 573 -195 0: =0 3 +3 0: -1 1% +x0 1 +1 0
#E ) X 578 -24 3 -2 692 +2 2% +2 1 -2 0i=+x0 0i -2 2% +2 0
[ii] X 315 -15 1 -1 388 -3 0:=+0 0: -1 0:=+0 1:i 0 0:=+0 1
th X 583 -18 4 -1 678 -47 0i=+0 2i -1 0i -1 2 i 0+ 0i -2 2
% M= X] 385 -43 0 +0 455 -40 0: =0 0: =0 0: =0 0: =0 0:=+0 0
E B K 433 -127 0 -4 494 -185 0:i =0 0:i=x0 0:i =0 0: -4 0:i =0 0
Rtr B RK 425 -49 1 +0 489 -92 0: =0 1 +1 0: =0 0: -1 0: =0 0
i} X| 582 -23 2 -1 681 -25 0:i =0 0:i -2 0: =0 2 i 0+ 0: -1 2
B 7 K 318 -67 2 +1 374 -90 1 +1 1 +1 0:i=+0 0: -1 1 +1 0
ElE R K 444 -51 1 -2 520 -63 0: -1 0: -1 0: -1 1 +1 0: =0 0
E O K 722 -46 4 +4 818 -61 1 +1 1 +1 1 +1 1 +1 0i=+0 2
% X 405 -101 5 +3 472 -142 0: =0 110 0: =0 4 i +3 0: =0 1
' E K 556 -42 8 +5 628 -81 2% +1 4% +4 0i -1 2% +1 0i=+0 2
M R X 501 -10 3 +2 605 -33 0: -1 1 +1 1 +1 1 +1 0: =0 1
mlF B K 818 -11 2 +0 973 -20 0:i=+0 110 0:i=+0 110 0:i=+0 0
ES X 227 +28 1 -1 268 +41 0:i=+0 1 -1 0:i =0 0:i=+0 0:i =0 1
= X] 368 -35 2 -1 425 -36 0: -1 0: =0 0: =0 2 i +0 0: =0 2
| 349 =37 0 +0 427 -16 0i+0 0 i +0 0 i +0 0 i +0 0 i +0 0
5 8,508 -825 43 +4 9, 960 -1,086 6 i +2 17 +3 2i -2 18 +1 4 i +1 14
Il X 603 -71 2 -3 686 -60 0i =0 0i -1 1 -1 1 -1 0i -1 1
ImES X| 354 -8 1 -2 418 -17 0:=+0 1: 0 0: -1 0: -1 0:=+0 0
b FH X 343 +12 1 -2 409 +43 0: -1 0:i =0 0: -1 110 0:i=+0 1
5 |Ee E X 488 -29 2 +1 565 =31 0: =0 1 +1 0: =0 1: 0 0:=+0 0
R 454 +38 3 +1 504 +19 [U=={] 2 +2 [ =={] 1 -1 [U=={] 0
m|Z E K 403 +12 0 -3 446 -9 0:i=+0 0:i -2 0: -1 0:i=+0 0:i=+0 0
B & X 270 -7 1 +0 322 +15 1 +1 0: -1 0:+0 0:+0 0:+0 1
B 2,915 -53 10 -8 3, 350 -40 1§ +0 41 -1 1 -4 4 i -3 0i -1 3
il £ K 874 -8 3 +3 1,030 -2 1 +1 1 +1 0: =0 1 +1 1 +1 1
% |E X] 809 -22 4 +1 964 -23 0i=+0 0i -1 1 -1 3 +3 0i=+0 2
R (%% X] 579 -60 3 +2 690 -76 1:+0 0:+0 0:+0 2 i +) 0: -1 0
5 2,262 -90 10 6 2,684 -101 2 1 1 0 1 -1 6 6 1 0 3
% B B m 1,120 +18 11 +4 1,336 +27 4 i +3 3 +3 0: -1 4 i - 4 i +4 4
EOE W 957 -92 0 -3 1,153 -105 0: =0 0: -3 0: =0 0: =0 0: =0 0
# & m 467 -47 1 +0 543 -1 0i -1 0i =0 1 +1 0i =0 0i =0 1
B R ™ 1,177 -62 4 -2 1,433 -44 1 +1 0: -3 0: -1 3 +1 0: -1 3
N B R 655 -9 3 +0 792 -41 0i=+0 3 +1 0i -1 0i=+0 0i=+0 0
¥ 4 & 565 +28 4 +3 632 +0 0: -1 0:=+0 1 +1 3 +3 0: =0 2
EZ  F M 147 +4 0 +0 175 +0 0:=+0 0:=+0 0:i=x0 0:i =0 0:=+0 0
ml= H W 143 +3 0 +0 177 +4 0: =0 0:=+0 0: =0 0: =0 0:=+0 0
£ % M 396 +8 1 +1 483 +5 1 +1 [UR=={] 0: =0 0: =0 1 +1 0
E A 866 -73 0 -6 1,053 -87 0: -2 0:i -2 0: -1 0: -1 0:i -2 0
X M 836 -39 2 +2 967 -66 0: =0 0: =0 0: =0 2% +2 0: =0 2
# B R m 337 +12 1 -4 398 +16 0i=+0 0i -2 0i=+0 1 -2 0i -1 1
B E A 403 -6 1 -1 511 +26 1:=x0 0: =0 0: =0 0: -1 0: =0 0
E M W 422 -26 0 +0 486 -35 0i=+0 0i=+0 0i=+0 0i=+0 0i=+0 0
MR WM 76 +4 0 +0 94 +11 0: =0 0: =0 0: =0 0: =0 0: =0 0
# # 271 -6 0 +0 325 +9 0:+0 0:+0 0:+0 0:+0 0:+0 0
B 8, 844 -283 28 -6 10, 558 -351 7 +1 6: -6 2i -2 13 +1 5 +1 13
il 22,529 -1, 251 91 -4 26, 552 -1,578 16 4 28 -4 6: -9 4 5 10 1 33
T 103 -3 0 +0 137 -9 0i=+0 0i=+0 0i=+0 0i=+0 0i=+0 0
£ Il 197 +14 0 +0 223 +3 0:=+0 0:=+0 0:=+0 0:=+0 0:=+0 0
X B H] 80 -40 1 +1 114 -52 0i=+0 1 +1 0i=+0 0i=+0 0i=+0 0
— B H 68 -11 1 +0 74 -16 1 +1 0: -1 0:=+0 0:=+0 0: -1 0
BT |2 H  H] 25 +0 0 +0 30 -5 0:i=+0 0:i=+0 0:i=+0 0:i=+0 0:i=+0 0
X H H 81 +10 0 +0 105 +23 0: =0 0:=+0 0:=+0 0:=+0 0: =0 0
W H ] 35 -3 0 +0 53 +9 0:i =0 0:i =0 0: =0 0: =0 0: =0 0
W de H 30 +8 1 -1 38 +1 0: -1 0:i=+0 0:i=+0 1: =0 0:i=+0 1
Bl B Hf 36 -5 0 +0 40 -6 0: =0 0: =0 0: =0 0: =0 0: =0 0
= MR H 67 -3 1 +0 95 -13 0i=+0 1 +1 0i -1 0i=+0 0i=+0 0
B B 14 +6 0 +0 20 +9 0: =0 0: =0 0: =0 0: =0 0: =0 0
& oA RO 67 -8 0 +0 86 -1 0i=+0 0i=+0 0i=+0 0i=+0 0i=+0 0
Z )il M 102 =27 4 +1 115 -42 1 -1 1: 0 0: =0 2 i +2 0: =0 2
fEE )L H 10 +6 0 +0 13 +9 0:+0 0:+0 0:+0 0:+0 0:+0 0
B 915 -56 8 +1 1,143 -90 2: -1 3 +1 0: -1 3 +2 0: -1 3
R E R E 481 +56 3 -6 826 +60 1 -4 2 -1 0: =0 0: -1 0: -1 0
& i 23,925 -1, 251 102 -9 28,521 -1,608 19 -1 33 -4 6 i-10 44 i +6 10§ -1 36




